

①  $f(x,y) = x^2 - xy + y^2$ ,  $M: |x| + |y| \leq 1$

$f'_x(x,y) = 2x - y = 0 \rightarrow y = 2x$

$f'_y(x,y) = -x + 2y = 0 \rightarrow x = 2y$

$[0,0]$   $x = 2y$   
 $x = 0$

$f(0,0) = 0$

I.  $y = -x + 1$ ,  $x \in (0,1)$

$f: x^2 - x(x+1) + (x+1)^2 = x^2 - x^2 - x + x^2 + 2x + 1 = 3x^2 - 3x + 1$

$f': 6x - 3 = 0 \rightarrow x = \frac{1}{2}$

$f(\frac{1}{2}, \frac{1}{2}) = \frac{1}{4}$

10 29-17:55

$f: 3x^2 - 3x + 1 \rightarrow f': 6x - 3 = 0$

$[\frac{1}{2}, \frac{1}{2}] \rightarrow \frac{1}{4}$   $x = \frac{1}{2}$   
 $y = -\frac{1}{2} + 1 = \frac{1}{2}$

II.  $y = x + 1$ ;  $x \in (-1,0)$

$f: x^2 - x(x+1) + (x+1)^2 = x^2 - x^2 - x + x^2 + 2x + 1 = x^2 + x + 1$

$f': 2x + 1 = 0 \rightarrow x = -\frac{1}{2}$   $y = \frac{1}{2}$

$f(-\frac{1}{2}, \frac{1}{2}) = \frac{3}{4}$

10 29-18:11

III.  $y = -x - 1$ ,  $x \in (-1,0)$

$f: x^2 - x(-x-1) + (-x-1)^2 = x^2 + x^2 + x + x^2 + 2x + 1 = 3x^2 + 3x + 1$

$f': 6x + 3 = 0 \rightarrow x = -\frac{1}{2}$

$f(-\frac{1}{2}, -\frac{1}{2}) = \frac{1}{4}$

IV.  $y = x - 1$ ;  $x \in (0,1)$

$f: x^2 - x(x-1) + (x-1)^2 = x^2 - x^2 + x + x^2 - 2x + 1 = x^2 - x + 1$

$f': 2x - 1 = 0 \rightarrow x = \frac{1}{2}$   $y = -\frac{1}{2}$

$f(\frac{1}{2}, -\frac{1}{2}) = \frac{3}{4}$

10 29-18:17

$[1,0] \rightarrow 1$   
 $[0,1] \rightarrow 1$   
 $[-1,0] \rightarrow 1$   
 $[0,-1] \rightarrow 1$

ABS. MIN  $f(0,0) = 0$

ABS. MAX

10 29-18:23

②  $f(x,y) = x^2 + y^2 - xy - 2$ ,  $M: x^2 + y^2 \leq 1$

$f'_x(x,y) = 2x - y = 0$

$f'_y(x,y) = 2y - x = 0$

$[0,0]$   $f(0,0) = -2$

I.  $y = 1 - x^2$ ,  $x \in (-1,1)$

$f: x^2 + (1-x^2)^2 - x(1-x^2) - 2 = x^2 + 1 - 2x^2 + x^4 - x + x^3 - 2 = x^4 + x^3 - x^2 - x - 1$

$f': 4x^3 + 3x^2 - 2x - 1 = 0$

$x = \frac{1}{2}$   $y = \frac{3}{4}$

$f(\frac{1}{2}, \frac{3}{4}) = \frac{3}{4}$  (ABS. MAX)

II.  $y = -x - 1$

$f: x^2 + (-x-1)^2 - x(-x-1) - 2 = x^2 + x^2 + 2x + 1 + x^2 + x - 2 = 3x^2 + 3x - 1$

$f': 6x + 3 = 0 \rightarrow x = -\frac{1}{2}$   $y = -\frac{1}{2}$

$f(-\frac{1}{2}, -\frac{1}{2}) = -\frac{3}{4}$

III.  $y = x - 1$

$f: x^2 + (x-1)^2 - x(x-1) - 2 = x^2 + x^2 - 2x + 1 - x^2 + x - 2 = x^2 - x - 1$

$f': 2x - 1 = 0 \rightarrow x = \frac{1}{2}$   $y = -\frac{1}{2}$

$f(\frac{1}{2}, -\frac{1}{2}) = -\frac{3}{4}$

IV.  $y = x + 1$

$f: x^2 + (x+1)^2 - x(x+1) - 2 = x^2 + x^2 + 2x + 1 - x^2 - x - 2 = x^2 + x - 1$

$f': 2x + 1 = 0 \rightarrow x = -\frac{1}{2}$   $y = \frac{1}{2}$

$f(-\frac{1}{2}, \frac{1}{2}) = -\frac{3}{4}$

$[1,0] \rightarrow 1$   
 $[-1,0] \rightarrow 1$   
 $[0,1] \rightarrow 1$   
 $[0,-1] \rightarrow 1$

10 29-18:26

③  $f(x,y) = 2x^2 + 4x^2y^2 - 2xy$ ,  $M: |x| + |y| \leq 1$

$f'_x(x,y) = 4x + 8x^2y^2 - 2y = 0$

$f'_y(x,y) = 4x^2y - 2x = 0$

$[0,0]$   $f(0,0) = 0$

I.  $y = 1 - x$ ,  $x \in (0,1)$

$f: 2x^2 + 4x^2(1-x)^2 - 2x(1-x) = 2x^2 + 4x^2(1 - 2x + x^2) - 2x + 2x^2 = 6x^2 + 4x^2 - 8x^3 + 4x^4 - 2x + 2x^2 = 10x^2 - 8x^3 + 4x^4 - 2x$

$f': 20x - 24x^2 + 16x^3 - 2 = 0$

$x = \frac{1}{2}$   $y = \frac{1}{2}$

$f(\frac{1}{2}, \frac{1}{2}) = \frac{3}{2}$

II.  $y = x - 1$

$f: 2x^2 + 4x^2(x-1)^2 - 2x(x-1) = 2x^2 + 4x^2(x^2 - 2x + 1) - 2x^2 + 2x = 2x^2 + 4x^4 - 8x^3 + 4x^2 - 2x^2 + 2x = 4x^4 - 8x^3 + 4x^2 + 2x$

$f': 16x^3 - 24x^2 + 8x + 2 = 0$

$x = \frac{1}{2}$   $y = -\frac{1}{2}$

$f(\frac{1}{2}, -\frac{1}{2}) = \frac{3}{2}$

III.  $y = x + 1$

$f: 2x^2 + 4x^2(x+1)^2 - 2x(x+1) = 2x^2 + 4x^2(x^2 + 2x + 1) - 2x^2 - 2x = 2x^2 + 4x^4 + 8x^3 + 4x^2 - 2x^2 - 2x = 4x^4 + 8x^3 + 4x^2 - 2x$

$f': 16x^3 + 24x^2 + 8x - 2 = 0$

$x = \frac{1}{2}$   $y = \frac{3}{2}$

$f(\frac{1}{2}, \frac{3}{2}) = \frac{3}{2}$

IV.  $y = -x - 1$

$f: 2x^2 + 4x^2(-x-1)^2 - 2x(-x-1) = 2x^2 + 4x^2(x^2 + 2x + 1) + 2x^2 + 2x = 2x^2 + 4x^4 + 8x^3 + 4x^2 + 2x^2 + 2x = 4x^4 + 8x^3 + 8x^2 + 2x$

$f': 16x^3 + 24x^2 + 16x + 2 = 0$

$x = -\frac{1}{2}$   $y = -\frac{1}{2}$

$f(-\frac{1}{2}, -\frac{1}{2}) = \frac{3}{2}$

ABS. MIN  $f(0,0) = 0$

MAX:  $[2,4], [-2,4] \rightarrow 3/2$

MIN:  $[0,0] \rightarrow 0$

10 29-18:34

⑤  $\iint_M \arctan\left(\frac{y}{x}\right) dx dy$  |  $M: \begin{cases} x^2 + y^2 \geq 1 \\ r \leq 3 \end{cases}$

$\frac{x}{\sqrt{3}} \leq y \leq \sqrt{3}x$

$x = r \cos \varphi$   
 $y = r \sin \varphi$   
 $r \in (1, 3)$   
 $\varphi \in \left(\frac{\pi}{6}, \frac{5\pi}{6}\right)$

$\iint_M \arctan\left(\frac{y}{x}\right) r dr d\varphi = \int_{\frac{\pi}{6}}^{\frac{5\pi}{6}} \left[\frac{\varphi}{2}\right]_{\frac{1}{2}}^{\frac{9}{2}} d\varphi = \frac{1}{2} \left[ \frac{\pi^2}{9} - \frac{\pi^2}{36} \right] \cdot \left[ \frac{3}{2} - \frac{1}{2} \right] = \frac{1}{2} \cdot \frac{3\pi^2}{36} = \frac{\pi^2}{24}$

$\frac{y}{x} = \frac{r \sin \varphi}{r \cos \varphi} = \tan \varphi$

10 29-19:05

⑥  $\iint_M x y dx dy$  |  $M: \begin{cases} x^2 + y^2 \leq 1 \\ r^2 \leq 1 \end{cases}$

$x + y \geq 1$   
 $y \geq 1 - x$  ①

$x = r \cos \varphi$   
 $y = r \sin \varphi$   
 $\varphi \in \left(0, \frac{\pi}{2}\right)$

①  $r(\cos \varphi + \sin \varphi) \geq 1$   
 $r \geq \frac{1}{\cos \varphi + \sin \varphi}$   $r \in \left(\frac{1}{\cos \varphi + \sin \varphi}, 1\right)$

$\int_0^{\frac{\pi}{2}} \int_{\frac{1}{\cos \varphi + \sin \varphi}}^1 r \cos \varphi r \sin \varphi r dr d\varphi$

10 29-19:21

⑦  $\iint_M \frac{x^2}{y^2} dx dy$  |  $M: \begin{cases} x=2, y=x \\ x-y=1 \end{cases}$

$y = \frac{1}{x}$

$\int_1^2 \int_{\frac{1}{x}}^x \frac{x^2}{y^2} dy dx = \int_1^2 \left[ -\frac{x^2}{y} \right]_{\frac{1}{x}}^x dx = \int_1^2 -\left[ \frac{x^2}{x} - \frac{x^2}{\frac{1}{x}} \right] dx = \int_1^2 -(x - x^3) dx = -\left[ \frac{x^2}{2} - \frac{x^4}{4} \right]_1^2 = -\left[ \frac{4}{2} - \frac{16}{4} - \left( \frac{1}{2} - \frac{1}{4} \right) \right] = \frac{9}{4}$

10 29-19:30